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CERTIFICATE IN SHOE UPPER CUTTING
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Term~End Examination

June, 2010

Time : 2 hours

OET-012 : MATERIAL COSTING AND CUTTING

Maximum Marks : 100

Note : All questions are compulsory.

1. Match Column ~ A with Column ~ B :

(a)
(b)
(©

(d)
(e)

®

(8)
(h)

(i)

G)
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Column - A
First Waste
Scratch
Flay Cut

Third Waste
Grain Matching

Coated Fabric
Nap

Gross Area
G=(ifS/A<
0.185)

Gross Area G =
(in case of
split/suede)
Velvety Effect

(B
(id)
(iii)

(iv)
™)

(ix)

)

10x2=20
Column - B

Suede Leather
Goat Leather
Defect on Grain
side

Leather Defect%
Defect on Flesh
side

S(1.098 +S/A)
S(1.205 +S/A)
Interlocking
waste

Synthetic

Nubuck Leather
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2.  Fill in the blanks : 10x2=20

(a) Weighted norm in English size system varies
one size to another size by %.

(b) Lasting allowance mnormally given
mm.

(c) Some defects of leather can be taken inside
allowance and

allowance of the component.

(d) IfS/A > 0185 then G = used
in RSM.
() Incaseof Bgradeleather ___ % to
% cutting value is considered.
(f 1sqft = Dm?.
(8) Area of parallelogram = _____ X

(h) In 180° of RSM tracing method 5t tracing

should touch and tracing.
(i)  Grain Matching is necessary in
leather.
() Nap effect found in leather.
Short Answer type questions : 5x8=40

3.  Explain the marking up method.

4.  Draw the vamp of derby shoe and show different
quality regions and margin on it.
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5.  What do you mean by defects of leather, explain
any four.

6. What you mean by scale Area in RSM Method ?

7; What are the main characteristics of suede
leather ?

Long Answer type questions : 1x20=20
Answer any one of the following :
8.  What is sorting of leather ? How it is done ?
OR
Draw the diagram of Hide and show :
(a) Different quality regions with their name.

(b) Line of tightness in each quality regions.
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2. T s qfd & 10x2=20
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